Y = COMMERCIAL SALES OF MILK AND CREAM // 2% MILK, BY PROVINCE, MONTHLY.
X1 = WAGES AND SALARIES AND SUPPLEMENTARY LABOUR INCOME, CANADA, IN THOUSANDS OF DOLLARS, SEASONALLY ADJUSTED.

X2 = MONTHLY / BREAKFAST CEREAL AND OTHER CEREAL PRODUCTS CONSUMER PRICE INDEXES FOR CANADA, MONTHLY, 1996 CLASSIFICATION, (1992=100 UNLESS OTHERWISE SPECIFIED).

X3 = FRESH MILK // CONSUMER PRICE INDEXES FOR CANADA, MONTHLY, 1996 CLASSIFICATION, (1992=100 UNLESS OTHERWISE SPECIFIED).

X4 = dummy variable, 0 and 1.


After running a regression test of Y on X1, X2, X3, and X4, we found that (1 = 0.000500079, (2 = -86.83791108, (3 = 64.79230588 and (4 = 32.70697736.  

Y = 2807.361442 + 0.000500079 X1 - 86.83791108 X2 + 64.79230588 X3 + 32.70697736 X4
In other words, all else equals, a thousand-dollar increase in wages and salaries and supplementary labour income (X1) will result in 0.000500079 unit increase in the COMMERCIAL SALES OF MILK AND CREAM (Y).

All else equals, a unit increase in MONTHLY / BREAKFAST CEREAL AND OTHER CEREAL PRODUCTS CONSUMER PRICE INDEXES FOR CANADA (X2) will result in 86.83791108 unit decrease in the COMMERCIAL SALES OF MILK AND CREAM (Y).

All else equals, a unit increase in FRESH MILK // CONSUMER PRICE INDEXES FOR CANADA (X3) will result in 64.79230588 unit increase in the COMMERCIAL SALES OF MILK AND CREAM (Y).
